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2 Calculate the value of ¥ and of y that satisfy the followmp sunultaneous lmear
suatiots
Hining milai x dan nilar y yang memuaskan persamaan [imear serentak berikul
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Answer / Jawapan!

Solve the following quadnne equation

Selesarkan persamaan kuadrarnk berikur

X* 4 3% =10'= 2(l+ x)
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Daagram * shows 2 solid formed by jommang a cvhmnder and 3 hermisphere

30 yang ferbemuk daripada

Fabunean Labush L inder
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Dragram 5
Rerah 5

| e radivn of e ¢vlimde

ihe 1acinx of the hermsphere = 6 cm

Uang ¥ calculate the volume oo’ of the combaned solid

JaiciFEl bl iwider #itH hamidi ferg - B oomi

AeiFpunagkon 7 hitungkan tupadu dalam cm’ | gobwpan popaal ita
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